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71. Which of the following is “Autotrophs”?
1) Producer 2) Decomposer

3) Consumer 4) Consumer and Decomposer

72. Which matching between cell and function is correct?
A : Bone cell - to discard waste
B : Muscle cell - to control movement
C : Nerve cell - to carry information
D : White blood cell - to kill bacteria
1) A and B right, C wrong 2) B and C right, D wrong
3) C and D right, A wrong 4) A and D right, B wrong

73. Which one is incorrect about the number of chromosomes of human?
A Egg = 22+X

: Sperm = 22+X or 22+Y

: Liver = 44+X or 44+ Y

: Ovary = 22+XX

: Red blood = 44+XY or 44+XX
1)Aand B 2)Band C
3)Cand D d)Dand E
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74. Alzheimers is caused by the error in which part of brain?
1) cerebrum 2) cerebellum
3) Hypothalamus 4) Medulla Cblongata

75. Which one is incorrect about exoskeleton?
1) Also called the external skeleton. 2) Centipede ant and crab.

3) Allows movement of body parts. 4) Made of cuticle or calcium sulphate.




